AL, @D = X BRITTOT. TN TERRERBIBEN
g 1= B Bl | =
= = X WRICEDHEDTZEE(E, THALIESN,
FH HEAICEESEAYY—EXZFALUTLDIHEDERNDIES
(B %58 37,200 M)

X = REEEUY-—EXXOFHAE&IERA% : 30,000 M
£ > EEREUY—-EXOFHAESIERA% : 20,000 M

(O RAESIBRREDEET]

30,000 H+20,000H = 50,000H

CI=PAS gR-YL))

50,000 §-37,200 1 (E#%) = 12,800H

FH2 1 ADEHRVNWRHESEINY-—EXEREFEBUEDOT—EXZFALTWSIES
(E#£%1 4,600 )

=Rty —EXDF REGRIER% 3,000 M
ERWEOY—-EXDFRE&IER%E 4,600 [

;::
=]
E
UL

[ttHEDOF HESIBREADEET]

3,000H+4,600M = 7,600H
[(BE =N 2EER]
7,600 -4,600M = 3,000H

FHOC 1 ADEHRVWEHNEEFEINY —EXENERRT—EXZFIBLTVWSIES
(E#%1 37,200 M)

fEEREAY —EXDOFIAER®IERA% 30,000 M
MERRY—EXDFIRE&IERE 20,000 M

[ttHEDOF HESIBREADEET]

30,000 H+20,000H = 150,000
[BE =N 2EER]
50,000 H-37,200M = 12,800H




FH@® R—HFEOELNNEDORBEMENESEEINY —EXLRER/UEDOT—EXZF
RAULTW3IES (WRREDZWKRL) (B#354,600 M)

i = RBEEAT—CEXOFNAEGIEAE 3,000 M
RERWEDY—EXDFAEGIEHEZE 4,600 M
= BEEUT-—CEXOFNAEGIEAEE 3,000 M

(O RESIBRREDEET]

3,000 H+4,600H+3,000M = 10,600H
(B2 =N 5EEE]

10,600 H-4,600M = 6,000

£HEC R—HFEOELNNEDREBMENEEEIAY—EX, REGUEDOY—EX, #
EREZFIALTWVWSIES (B#8©9,300 M. B#¥5 237,200 M)

i = RBEEAT—CEXOFNAEGIEAE 3,000
REBRWWEDOT—EXDFAE&IEHAZE 4,600 M
£ = BEEUT-—CEXOFNAEGIEAEE 9,300 1
WwEBREDOHRESIERAEE 30,000 4

O RBEERUD—EXERERITEOY —EX(CHRDIFAEEIBLERICDOVWTEELET.
(O RESIBRREDEET]
3,000 4 +4,600 H+9,300 B+ = 16,900
[BENDEO]
16,900 H-9,300MW = 7,600H
@ RIEODOHBEGBLRAICDOVWTEELFE T,
(O RESIBRREDEET]
9,300 3 (D% OD&IEEE) +30,000M = 39,300
[BENDEO]
39,300 -37,200M = 2,100M
[fBE=NDESET]
7,600 H+2,100M = 9,700H




